F2-158%K

S 1 AR T

BEFERAARICEY SR MEE
2HES IEFER I E £ I = @ Fr F E M (FiAA) AFLAH I = #B =
BREETE L=63.0m W=6.0m
o - . e . . _ - BEEEE L=630m BRI 10
(XK)32%5 MHEFR R5E M & E T H (TEIHEILEVIR) BT AOR—TBEi#A ¥38,005,000M e T A LR o R IR (- 5 M) N=5EFF
BHHEAERE =600m AEEEOT N=11&F
TEDEIERE Hhigi B KRR Z Dt
SHiEiE B FiE s BRETE ISO ERTE |RSUT47| FET | mpw.a oo | 1es e . R AR MERDER T
I%%:’ﬁﬁ I%ﬁfﬂ%ﬁ iﬁg Eégg%;;% QHHIEE ﬁ#%fﬁﬁ 5E§j] t'l‘iiﬁﬁg ﬁiﬁ *BE*JJ: BHK WK IR ?E%{?.IJ:M%‘ E%ﬁi‘t:ﬁ% EEEIEE
s 2 2 1 — 1 2 1 2 2 GRis=) GRi =) — 17 10.000
[{fi#& LA D SR (ifE R )
TEDHEIEE Hhis B BKSEAE Zhith
AfLE miE . BBRTE 1SO ERTE |RST47| FET | mps.a woovice | sep o il MER w5
I$£$§ I$EJZ$E ﬁﬁ; Eégg%;)?% gEHIEE ﬁ%%%ﬁ 5E§J t'liiﬁﬁg Iﬂiﬁ *EH*.”: Bﬁ% /}&X *EI%{'?‘JLM?J\ E$ﬁ$lﬁ# EEIEE
BASHLIRHD 2 0 0 — 1 0 0 0 1 0 0 — 4 3.636
ASESEHAH 2 0 1 — 1 1 0 0 2 0 0 — 11 10.000
| FimsoFEy | 7500 |
[REFHImER]
AALIERE (Bith) EALBRERE (RIEEE) HEMEAS | RAITEE * — -
AfLE A) EAFL @ o) X 52 mES (B) (©) = 100+(B) | (C/A) X 100000000 EALE FHRBEOER
A EHIRHD 33,850,000 @) @) O O 3.636 103.636 306.162
AERMAEH 34,500,000 @) @) O (@) 10.000 110.000 318.841 EAL K 4 E R £ B B
4 & A H
S & A A2
AFLE Bl (BiRE) ZHES (EEEMIE) X1 ME S, FHEEIS/ N EMIEZEERALEMLETRT
AT fE 34,550,000 100.000 289.436 X2:MER=BR/&REER) X NESADHA)




